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READ THESE INSTRUCTIONS CAREFULLY

Use only an ordinery pencil.

Time: 2Hrs

Make sure thar voir have written on the answer sheet:-

u@ posen is writien.

R NAME : (II) NAME OF YOUR SCHOOL
For each guestion show the correct answer by drawing line in the brackets in which the letter you have

Write eleven million twenty one thousands two
hundred and eleven in figures.

A. 11210211 B.11021211

C. 11201211 D. 11021112

What is the total value of digit 7 in the number
RAS2747

A. Hundredths B. Tenths
C.R97 B 00
What is the value of:- 20+8x4 568
A. 45 B.7
C. 105 D. 70
Work out the value of:-
3 x (Y + % x 20)
A2 B. 11%,
£ 3%, D. 11%
What is the square root of 0.2116?
A.4.6 B. 46
C. 0.0046 D..0.46
Work out: :

0.16x 5.4

1.08

A. 80 ' B. 0.8
C.0.08 D.8
Work out: 2%, -3 + 4. =
A BN B. 4%/, S
Gl ipS L DA
What is the missing number in tbP, attern below?
123, 234, 345, 567 .
A. 456 B7356
C. 234 //’ D. 678

A farmer had 60 sj#ep and 40 goats on his farm. If
he sold 20% of#s sheep and increased his goat by
#any animals has he now?

A. 1287 B. 160 C. 104 D. 100

GBI BN TS

10. In the figure below lines EC and ED are equal.
Angle CAB = 50° and angle ABC =72°

4 =

+ What is the size of angle AED?
A. 64° B.122° el 352 D. 116
i1. During abirthday party, %/, of the children present
were boys. If there were 60 girls, how many boys
were present? -
A. 40 B. 120 C. 180 D. 90
. Which is the correct order of writing the fractions

3 5, 2/3, %, and 7/, from the largest to the smallest?

oy
N

e ! B e L

C. 2’!3’ i g My D. Yy Uy g ¥

13. What is the value ofi-
4p+3n
2t

Ifn=4,p=2n+1,t=p+3

AL B 36 S B 5 D. 48
14. Write 124% as a fraction in its simplest form.

A JEE ; B.*7,

B D. o,
15. What isthe valueof 15+ 11 correct to3 decunal

places?

A. 1363 - -B.1.364

C 156 D.1.366
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16. Find the value of x in the figure below.

(=

. -\,_h‘g).o

(2:&@‘
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A. 90° B. 65° € 2 D. 20°
17. Anew car costs Sh 975,000. After 6 years its value
decreased by 43%. Find its velue after the 6 years?
A. 555750 B. 419250
C. 292500 D750655
18. Inthe diagram below, choose thg:xc.:orrect statement.

(Z-li

/4[4 :
A Nim ' &
/e
e P %)

A k+t=1l+s y B.s+tm=n-+u
Cu+s=m+k D.n+t=1+p

19. Find the distance round the figure below.

—

B.66cm

Ve
A. 84 cm C.% cm D.47 ecm

26. The scale of a map is 1:100,000. What is the real
length of a road represented on the map by 6 cm?

A.60km B.6km C.600m D. 60 m

21, Whatis the volume of the tank drawn below? (Take '

II= 2:/';'

22. A square piece of land has an areaof 15.21 m".
What is the sum of two of its side in metres?
A.7.8m B.3.9m
C.35.6m D.10.08 m

23. A train left Kisumuat 1845 h and arrived at Nairobi
at 0540 h. How long did the journey take?

A.13 hrs S min B. 24 hrs 25 min
C. 12 hrs 25min D. 10 hrs 55 min

24. The mean of 6 boys is 54kg. After the addition of
the 7th boy the mean becomes 55 kg. What s the
weight of the 7th boy?

A.55kg B. 324 kg
C 6l kp D. 385kg

28, What is the perimeter of the figure below?

 (TakeII=7%/)

A.55¢cm . B.76cm

~ C.69¢cm D. 109 cm
26. A
60 -| B

120 8C C

180 | 120 | 60 | D

270- | 240 165 120 E

The fare for a pupil is half that of an adult. Three
teachers and ten pupils travelled from townAto D.
How much did they pay for the fare?

A. 2340 B. 1170
C. 2880~ D. 1440

D. 72°

A. 693 m? 27 . "The temperatu:-:\ ¥awater in a container was 18°C.
. The container was \‘~ on the fire until the water
boiled. What was the riSijn temperature?
B.27.72 m? AL 8Ot BAlage - \: 0°
; 28. Remove the brackets and sirnplir:}\'
C.93.72 m* Y(12g + 4) + ¥/(5g + 15)
A.13g+ 64 B.13g+ 15
D. 69.3 m* C. 56g B 15gElR!
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29. The figure below i, painted on all sides. Find the
surface area painted? e

8
A. 280 cm B. 240 cm?
. 184 em? D. 280 cm?

303, What is the perimetar of the figure below?
(Take I1 =%/}

ZDna

A.131m
C.120m
31. Solve
S A SY
A 391, B.2B/,,
CoBle B3,

32. A sales person receives a commission of 5% of the

value ofhis sales. How much commission would he -

get on sales of 750007
A. 3750 B. 78750
C. 37500 D. 11250

33. Whatisthe surfacearea of the open cylinder below?
(Take I1=2/) o=

B. 2816 cm?
D. 2332 cm?

A. 3432 cm?
€. 1716cm? .-

34. The hire purchase price for a gas.cowiler is Sh 5870,
Naima paid a deposit of Sh 2670 and paid the
balance in 8 monthly installments. How much was

each instalment?

A. 3200 B. 2270 C. 5470 D. 400
35. What is the area of the shaded part in the ﬁgu.rg

below?

: 60,;,

B. 1800m?
D. 1200m? .
36. Moipei borrowed Sh 15000 for a period of 2 years.
, He was charged simple interest at the rate of 16%
p.a How much interest did he pay?
A.4800 B. 5480 C. 19800 D. 3300

377. What is the area of the shadet] region in the diagram
below? (Take IT=%/.)

A. 4800m?
C.3600m?

A. 616 cm? B. 154 cm?
C. 562 cm? D.462 cm?

38. Construct triangle KTM whose side KT = 7cm, KM
= 8cm and angle MKT = 50°. What is the measure
of angle KMT? ;

X e B. 33° L. 57 D. 123°

39. Mwangi bought the following items:

3 loaves of bread @-Sh 22
6 kg of maize flour @ Sh 18
lkg salt @ Sh'16

2% kg sugar @ Sh 45

2kg margarine @ Sh 145

if he gave the shopkeeper Sh 1000, what balance
_ didheget? : 2

A..407.5ﬂ B.592.5 2Dy 507.5,_

C. 447.5
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40.

Letter (Limit of weight 2kg) Sh Cis
Upto 20g =91 @0
Over20 gupto 50g 25 00
Over 50 gupto 100 g 28 00
Over 100 gupto 250 g 42 00

Over 250 gupto 500 g 70 00
Over 500 g upto 1kg 113 06
Over 1kg upto 2kg 160 00

Murugi posted 3 letters whose masses are 12 g, 67
g and 750 g. How much did she pay?

A. 38.00B. 162.00~ €+166:60 B:269:00

41. Find the area of the trapezium below.
1%erm
12em
B ——
&P eri
A. 60 cm® + 4R 310 em?
C. 120 e’ D. 800 cm?

42, 1think of a number. IfI double the number and add
5toit. I get 17. What was the number?

A6 B..15 C. 14 D.12
43. The pie chart below shows the number of animals

in a farm. There are 72 cows in the farm. What is
. the total number of goats and pigs?

4
f

GLoATS
A 48Y B.
44. Work out: % =Y of 6 x 7/,
AL 3 B. 15% C. 1% B
45. Work out:  Tonnes kg g
13 0 0
.09, . 735

B. 14t 530 kg 365¢
D. 14t 529kg 265¢g

A. 141530 kg 265¢
C. 14153 1kg 265g

46. Whatis% as a percentage?
A.40% B.%% € 75% D. 30%
47. Atank of volume 850,000 cm3 is filled with water.
How many litres does the tank hold? 3
AL 85001 =B3RS0 C.0.85 D. 8517
48. A cyclist can cover a journey of 24 km in one hour.
~ What distance can he cover in %/, hours?

C.16 km D. 8km

A.32km B.48km

Which of the following shapes below should be used
to complete the pattern above?

50. The graph below shows the number ofkg of sugar
sold during a certain week by a shopkeeper.

e
Rt
@ a==

8 & §
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JSRYJ OF THE WEE

If a kilogram of sugar cost Sh 64. How much did
the shopkeeper get from the sales that week?

—A. 148 B. 8960 C. 7680

D. 7088



